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Becky’s Strategy

Becky Bright used a ten to solve 12 � 3. She said, “I know 
12 � 2 = 10. So 12 minus 3 is taking away one more. 12 � 3 = 9.”

Show or tell how to use Becky’s strategy to solve 14 � 5.

How Many More

Solve the problems and write a number sentence.

1. Romesh has been to 12 states in the United States. Jason has been
to 8 states. How many more states has Romesh been to than
Jason?

2. Liz saw 12 rabbits at the park. Kathy saw 7 rabbits. How many
more rabbits did Liz see than Kathy?
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